EXAMPLE:

I would like write 32255(decimal) on Pr118 and the drive has 3(decimal) of address with 19200bits/s

The serial protocol has this structure:

[STX]  [CMD + ADDR]  [BK + LUN]  [PAR]  [DO]  ...  [DN]  [CHK]

[STX]= [7E] 

[CMD + ADDR]= see the table on the user manual, you find that CMD, for writing a parameter is 101(binary) and (for initial hipothesis) the ADDR is 3 (decimal).

So, [CMD + ADDR]= 101 + 00000, note that the bits must be eight --> [CMD + ADDR]=1010000(binary)=A0(hex)

[BK + LUN]= in the user manual you find: the BK field is represented by the 5 most significant bits and represents the 5 most significant bits of the parameter address. In this specific case you have Pr160 --> 180*2=320(decimal) = 101000000(binary) be carefull!! you must represent it on 13 bits and after consideronly th 5 significant bits.

101000000 (binary) --> 0000101000000 (binary) So the BK = 00001(binary).

LUN are 4 byte of the data trasmitted on 3 bits --> LUN=4(decimal)=010(binary)

Finally you have [BK + LUN]=00001 010 (binary)=A(hex)

[PAR] = represent the least significant eight bits of the address (Pr160 --> 160*2 = 320(decimal)= 01000000 (binary)= 40(hex))

[D0] ... [Dn] = in this example you have (Pr160=1000) 1000 (decimal)=3E8(hex). Now take the digits in this manner:

(03) (E8) --> [D0]=E8  [D1]=03   

If a field in the message different from STX assumes the value $7E, this field is followed by a 0 ($00) so that it will not be interpreted as an [STX]. 
At this point you can order all the (hex)data:

[STX]  [CMD + ADDR]  [BK + LUN]  [PAR]  [DO]  [D1]    [CHK]

[7E]           [A0]                   [0A]          [40]    [E8]   [03]   [CHK]

[CHK] = is the 256 module sum off all the field without [STX]

A0 + 0A + 40 + E8 + 03  = 1D5(hex) = 469(decimal)

469(decimal) / 256 =1,83…

1 * 256 = 256 (decimal)

469(decimal) - 256(decimal) = 213(decimal) =D5(hex)=[CHK] --> [CHK]==D5
